Apartment in Sliema



Sliema, Sliema and St Julians Surroundings



€404,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²) : **100**

Bedrooms: 2

Reference No: 240311077-281

Apartment - For Sale - Sliema

SLIEMA - APARTMENT - New on the market and located meters away from the seafront, forming part of small block of only 4 units one finds this new development. Comprising of an open plan Kitchen/Living/Dining, 2 Bedrooms (main with En-Suite) and a main Bathroom. It is being offered in shell form, with common parts finished to high standards. The project will be ready built by mid-2025. Freehold. Contact the agent for more information or to set up an onsite viewing!!

Features

En Suite

Balcony

Rooms

- Kitchen/Living/Dining : 7.89 x 5 m (39.45 m2)
- Bathroom : 2.01 x 2 m (4.02 m2)
- Double Bedroom : 3.44 x 7.23 m (24.87 m2)
- Double Bedroom : 3.62 x 5.73 m (20.74 m2)
- Bathroom Ensuite : 2.23 x 1.9 m (4.24 m2)
- Open Space : 3.39 x 1 m (3.39 m2)
- Open Space : 3.62 x 1 m (3.62 m2)

Gallery









Nathan Mifsud RE/MAX Masters - Qormi

M: 79414515 E: nathanm@remax.com.mt T: 22265300

RE/MAX Masters - Qormi 4Triq Antonio Muscat Fenech, Qormi, Malta